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Important Instructions :
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8.

. The test is of 8 hours duration and Test Booklet

. The CODE for this Booklet is AA. Make sure that the

The Answer Sheet is inside this Test Booklet. When you
are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars on Side-1 and
Side-2 carefully with blue/black ball point pen only.

contains 180 questions. Each question carries 4 marks.
For each correct response, the candidate will get
4 marks. For each incorrect response, one mark will be
deducted from the total scores. The maximum marks are
720.

Use Blue/Black Ball Point Pen only for writing
particulars on this page/marking responses.

Rough work is to be done on the space provided for this
purpose in the Test Booklet only.

On completion of the test, the candidate must
hand over the Answer Sheet to the Invigilator
before leaving the Room/Hall. The candidates are
allowed to take away this Test Booklet with them.

CODE printed on Side-2 of the Answer Sheet is the
same as that on this Test Booklet. In case of discrepancy,
the candidate should immediately report the matter to
the Invigilator for replacement of both the Test Booklet
and the Answer Sheet.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Test Booklet/Answer Sheet.

Use of white fluid for correction is not permissible on the
Answer Sheet.
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foeror % W Ui HFER BT B | STEEA A W
STIET B dh WM hl Tisham 0 1 g fopu T Rt 3R

wésg‘r?msﬁﬁawmagm%
T B
A
0 —>T
D %
) g
@ 2
@ 2

forelt go1 AT d1sd I g g R S AT
q1gY % gl U (ST i g % wHe 2 |
Ife g AT I18Y I Awg 20 cm 7, a1 Gl AN
gy hi g B

(1) 12:5cm

(2) 8cm

3) 132cm

(4) 16 cm

Torm a9 W AT STUpsi I S WIET WA (rms)
1A gt o AYATSA § TATEH L Tehd o fIC A
wITed & STt ?

(e w2

SIS % 9] T Z&HH (m) = 2-76 x 10726 kg
S R ky = 1-38 x 1023 J K1)

(1)
(2)

5016 x 10* K
8-360 x 10* K
(3) 2508x10*K
4) 1254x10*°K

A o T IR AR o Sie hrREd [l e

FSHT S5 h1 2&IaT Bidl B
(1) 625%

2) 20%

(3) 26-8%

4) 12:5%

t,al

’1%9 %lume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

\Y%

T

o

éT

(D

(2)

6))

4)

NN O N Wb W

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

(1) 12-5cm

(2) 8cm

(3) 132cm

(4) 16 cm

At what temperature will the rms speed of

oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :
Mass of oxygen molecule (m) = 2-76 x 10726 kg

Boltzmann’s constant kg = 1:38 x 1028 JK™h
(1) 5016x10*K
(2) 8360x10*K
(3) 2508x10*K
(4) 1254x10*K

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

(1) 6:25%

(2) 20%

3) 268%

4) 125%
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= foru, fafira uit < g siferd fopr s & | vl g
T 59 BT

(1) el — &0 — S - gTEa

(2) el — ST — T - =i o

(3) S — el — ATt — =id o1

(4) TU — AWM — ST — gAEw

‘v’ qIEH Tigeh & qg=, EY Y% @1 gfaiy
‘R 8, ooftspm W fa.a1.sd (emf), ‘B’ 3R 3r=afiish
gfqtie, ‘R’ 1 et S @ Taforg B | S 9 oft
g I 8 | 316§ ‘n’ JfaQeehi 1 Uwd A § 3EH S
o frn S g 1A S oA T awm 10 I &
Tt ] | ‘n’ BT HAH B

(1) 20

2 11

(3) 10

4 9

g St 3maftes gfetiy @ a1e, Fofishd ¥ T, ‘o’
TdoH Al (T n ufEdt 2) ¥ R R 1 9l %
Tt 1 AR e 9 [ W g 7 | T
HH-AT U6 [ 3R n & o= T a9y h T § ?

I
(1) Tf
(0] —n
I
(2) f i
0 —n

I

—

3

(@) —>n
I

4) T
(@) —n

t5§1I

139 (%{:gon resistor of (47 £ 4-7) kQ is to be marked
with of different
identification. The colour code sequence will be

(1)  Yellow — Green — Violet — Gold

(2)  Yellow — Violet — Orange — Silver
3)
4)

rings colours for its

Violet — Yellow — Orange — Silver
Green — Orange — Violet — Gold

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is I.
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

(1 20
(2 1
(3) 10
4 9

A battery consists of a variable number ‘n’ of
identical cells (having internal resistance ‘1’
The
terminals of the battery are short-circuited and

each) which are connected in series.
the current I is measured. Which of the graphs

shows the correct relationship between I and n ?

I
(D Tf
(0] —n
I
(2) T i
0 —n

O —n
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10.

agfad YehTr a1y ¥ AAd war 7 | feRet faw
YA IV 4 R A T T foh wwmafaa feRtol 3Tk
sqafia fRu Th-gEt % aFed § | FefaRed | @
Hi-a1 fashey o feufa & adt 8 2

(1) i=sin™! (1]
u

(2) wafdd yh gfad 8 3 g fogq afew
JATYGH o et o Tedd &

wafdd Y gfad @ o soe fagq wfew

ST o dd o 9 8
i=tan! (lJ
1)

I % et i °, ffei & offe 9ok d, 2 mm 2
qa f3rll & 9¢ 1 gl D %l 100 cm W@d §Y qUIGE
A = 5896 A % JehTSI T IUAIT fohaT TR B | ¥ 4R
o7 fop fShatl <Al <hIvfiT <iers 0-20° ] | @« (38T A 3R
D % forw) fibsti st shiviiar =SS = age 0-21° &
% for farfet & ot % gershd &1 e &

3

4)

21 mm

(1)
(2) 1'9mm
1-8 mm

3

1-7 mm

(4)

forelt T 319 glaRis ol IV L 3Tfae
3 shiofy farsig 3= im, afe saeh stfirgyaes o i
Hroh gt STfireh it = weT @

wrohg gt STfires ot =T BT @

BIRH g A I = § 3

BIhd gl FH IR = Bl &

(D
(2)
3)
(4)

t al

10.

.com

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected

perpendicular to each other.

and refracted rays are
Which of the

following options is correct for this situation ?

. . _1(1J
i=sin | —
U

Reflected light is polarised with its electric

(1)

(2)
vector perpendicular to the plane of
incidence

(3) Reflected light is polarised with its electric

vector parallel to the plane of incidence
i=tan (lJ
u

In Young’s double slit experiment the separation

4)

d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to

1) 2'1mm
(2) 1'9mm
3) 1-8mm
4) 1'7mm
An astronomical refracting telescope will have

large angular magnification and high angular

resolution, when it has an objective lens of
(D)
(2)
(3)
(4)

large focal length and large diameter
large focal length and small diameter
small focal length and large diameter

small focal length and small diameter
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12.

13.

14.

TSt STt IR IEeHT el Foll ol AT BT @

1 2:-1
(2 1:-1
3 1:1
4 1:-2

AR WV = Vi (Ve > 0) 3 goH m
w1 F wwE R BEReT B - - By |
(B = e > 0) H t = 0 T Jorx =T 7 | Al Joew
# 3@ goEg bl el desd o, B, @ @t W
3! 2-SiTredt alreed gt

(1)

foret Meanferea werel <1 ardf-amyg 10 fire § | =fe
e # iRt A @A 600 B, A 450 AIRYeRT %
fqafea a9 # oM aren w (e ) @

(1) 30

(2 10

(3) 20

4 15

S foret a1 % I8 W AEN 2v, (J/T v, cgal
IR B) T TR I HIAT &, T Iedfotd gerag i
1 AR 9T v, 7 | I AMfaq faferon i g
FEH by, H G I @, Al I Y8 H Iedrd
Wqﬂﬁwaﬂv2ﬁm%lv1 3ﬁ'{v27=|'7f

EGRIE

1 4:1
(2 1:4
3 1:2
4) 2:1

12.

13.

14.

tl?.l ’1%8 E‘raitio of kinetic energy to the total energy of

an electron in a Bohr orbit of the hydrogen atom,
is

1 2:-1
2 1:-1
3 1:1
4 1:-2

An electron of mass m with an initial velocity
;/3 =V, /1\ (Vo > 0) enters an electric field
}_*]> =— Eoli\ (Eg = constant > 0) at t = 0. If A, is
its de-Broglie wavelength initially, then its
de-Broglie wavelength at time t is

() At

(2)

eE 0 t
mVo

Ao (1 +
L
1+ eEo t

mVO

@ X

6))

For a half-life is
10 minutes. If initially there are 600 number of

radioactive  material,

nuclei, the time taken (in minutes) for the
disintegration of 450 nuclei is

(1 30

(2) 10

3 20

4 15

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is vy. When the frequency of the incident
radiation is increased to 5v;, the maximum
velocity of electrons emitted from the same plate
is vo. The ratio of v{ to vy is

(1) 4:1

(2) 1:4

3) 1:2

4) 2:1
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(1)
(2)
(3)
(4)

16.
(1)
(2)
3
(4)

17.

20V

Ip =20 uA, I =5mA, B =250

Ip =25 A, Ig=5mA, =200
Ip =40 uA, Ig =10 mA, =250

Iy =40 uA, Io=5mA, B=125

el p-n &Y SETE # T B | A9 H diEH

p-n G & gfale s genferd T e ® |
Fad 31 Tfaly o1 gwIferd LT @ |
shaet ooy (Faet) wferier =t wemfara ot 2 |

p-n T % T V — I A0 ! Il hLaT
2

o o fou Tq el & waeH § il Y 1 fes A 3R

B 9ci H 39 YhR o¥ad fehal ST Hehdl &

Ae

Be

(D
(2)
3
4)

[
> y
(

A.B+A.B
A.B+A.B
A.B

A+B

t al

PR, ORAGH, FLAMs: RS Rideh CRS SRV |48

16.

17.

com

. In the circuit shown in the figure, the input

voltage V; is 20 V, Vg = 0 and Vg = 0. The

1

values of I, Iy and B are given by
20V

(D
(2)
6))
4)

Ip =20 A, I =5mA, B =250

Ig =25 uA, Ig=5mA, B =200
IB =40 MA,

I =40 uA,

I =10 mA, f =250

Ic=5mA, p=125

In a p-n junction diode, change in temperature
due to heating

(1)
(2)
3
(4)

does not affect resistance of p-n junction
affects only forward resistance

affects only reverse resistance

affects the overall V — I characteristics of

p-n junction

In the combination of the following gates the
output Y can be written in terms of inputs A and
B as

Ae
Be

—0—

> ¥
>

(1) A.B+A.B
(2 A.B+A.B
(3) A.B
4 A+B
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18.

19.

20.

21.

¢ forq-grashi o fpft mem d a1 V = Vi &
T W@ g | TR e su foRpq-greshi qtn W
foga-am 9o +y oW F ofewm B | d@
forga-grashia Tl o FEeehid & g ohi fewm Bl
(1) —yfem

2) +zfem

(3) —zfaum

(4) —xfem

fopeht forom & vered o1 e /2 IR s @ w
30° ¥ | fem & @ omads gst § @ uw W =i
TeTeRt i 1 T I AR T 2 | G HAE |
TOST T I ThaUT JeRTeT W1 his G (U1 aTel I8
T WEfdd g o 9vErd) 6T 9% W Iud S ST,
afe firsa W STT9a o 1 A= R

(1)
(2)
3
(4)

30°
45°
60°
A

Hig o7 15 cm BIHH g % fopell s/aaa giur &
40cm@mﬁ%%|aﬁsaﬁwaﬁaﬁwﬁﬁwﬁ
20 cm TIAARG W fean S, v gfafars feah gl
R foreenfua &1 smam ?
(1) 30cm3¢Wa5qTH
(2) 36 cm T H T
3) SOCm?TFT'UT@E;{
(4) 36 cm YU % 98

forell T ¥ 60 mA T g JaTfEd A W 3IW W °
Tfua grah feafast ot &1 7 25 mJ 2 | 39 T
T IThed 7

(1) 1-389H

(2) 13888 H

(3) 0138 H

(4) 13-89H

t al
18.

19.

20.

21.

.com

An em wave is propagating in a medium with a
velocity ;)7 = V/i\. The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1
(2)
(3)
(4)

—y direction
+ z direction
— z direction

— x direction

The refractive index of the material of a prism is
V2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence
on the prism is

(1) 30°

(2) 45°

(3) 60°

(4)

Zero

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be
(D)
(2)
(3)
(4)

30 cm towards the mirror
36 cm away from the mirror
30 cm away from the mirror

36 cm towards the mirror

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the

inductor is 60 mA. This inductor is of inductance
(1) 1-389H

(2) 138-88 H

(3) 0138H

(4) 1389 H
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23.

24.

25.

FeateR fogd-49 E # %5 & T8 g, h, frar 2 | o@
fogd-a 1 ufemor swfEfda w@d gu sEeh fom
Sohitd A St 7 | feRet Wi o formmaen ¥
3l 81 Healer g h deh 39 A e San @ | SeH
% i § fofw @ w9 i go § s g i |
form e T B

(1) 10 7T AfesR

(2) 57T 3Tfeh

(3) =H

(4) T

e Q % foreft fogea Tma ufgemr @enfr ¢
&% A 9Tl g <l afgemiati & fia fRR-Ggd 9o
(1) dfgeii & == 6l gt % A 6 STIHAIA!
B E |

afgeRratl o o9 hl g % Mashd: STIHHAT
B R |

(3) fgehrait < fter A1 gft T i 7 et |

(4) dfgraTt < dta hi gft % AT BT B |

Toret wafr fguger o1 ST foreft Tt i <t Aot @
G 39w o foru forem o 7, foem Ay wry
I g ! GRed! e grr auTEieTa feam ST gehan
21 27°C %¥ I W &Y HI A6 20 cm IR
73 cm B W G SHATTA TG 399 B 7 | Ifg w@i
feust 1 eTafd 320 Hz B, @1 a1 ® =@ &1 27°C W
Ul
(1)
(2)
3)
4)

s TAlcTeh Teh HIhl S Wad hl ©d H Thl & I
T Ed qiceh i 9ifd Jad &9 F W-A8 i &
W g | We fRafd ¥ 5 m gl W 3Eeh Teh H
T 20 m/s% B | S ST SATEdRTA 7

1 2s

(2 ms

3
4)

(2)

350 m/s
339 m/s
330 m/s
300 m/s

2n s
1s

23.

24.

25.

t2§| '&Omctron falls from rest through a vertical

distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(D
(2)
3
(4)

10 times greater
5 times greater
smaller

equal

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
charge Q and area A, is

(1) proportional to the square root of the
distance between the plates.

(2) the distance

linearly proportional to
between the plates.
3)

independent of the distance between the
plates.

(4) to the distance

inversely proportional
between the plates.

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 cm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 350m/s
(2) 339m/s
(3) 330 m/s
(4) 300 m/s

A pendulum is hung from the roof of a
sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

(1) 2s
(2) ms
(3)
(4)

2n s
1ls
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26

217.

28.

29.

e 0aded From i LR 4 bR eR%

afast T8 # T Faehd TMa o W S &Afes & 30°
T IV ST 7, T T 2 | 36 B I 360 e
€T JaTed hieht e Hlehd 8l a1 ST e 36 W
0-25 T ST 1 Frahid &7 Hearer foem § sl =L @l
2 | D8 I for we & fau s yerfga a2

(1) 1476 A

(2) 598A

3) T14A

(4) 1132A

foreht forega-gress & yai & st fagresh gared i

T Tdch 98 HeArR v 7 | 99 fogd-grees § 9/

TaTgd Sl Sl 3, T 98 B &fds greshd & 8 e

FH HI 3N gt & A 8 | 38 ThR I8 B Tocd

feufas ol wed et B | UH R % T e

R LT B

(1) 3% % Ui shi Tieh T

(2) T &

(3) fomE =@

(4) I fora-a < T uftedt grehia &9 @ Ic0=
BT &

20 mH ST s Ih, 100 pF 1 I TS q9T 50 Q
1 I3 falesh, fo. 91, s (emf), V = 10 sin 314 t
&+ frelt wia & ooft & @aifa 8 | 59 ufmy § wifed
SR
(1)
(2)
3
4)

2:74 W
0-43 W
0-79 W
1-113W

forelt =t poeelt Aeanfier it g gufear 5 div/mA
3R Fieear guTfear (Fad $hl5 dicedl o 3cad hHIv
fag™) 20 div/V 2 | 30 AeamHie &1 afeliy B

(1) 2500

(2) 25Q

(3) 40Q

(4) 500 Q

217.

28.

29.

t2§.| 'gorrrqetallic rod of mass per unit length

0-5 kg m! s lying horizontally on a smooth
inclined plane which makes an angle of 30° with
the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in
the rod to keep it stationary is

(1) 1476 A

(2) 598A

3) 7T14A

(4) 11-32A

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
potential The work

gravitational energy.

required to do this comes from

(D

the lattice structure of the material of the
rod

(2)
3
4)

the magnetic field
the current source

the induced electric field due to the
changing magnetic field

An inductor 20 mH, a capacitor 100 uF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is

(1) 274W
(2) 043 W
3 079W
4 113W

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 250Q
(2) 25Q
(3) 40Q
(4) 500Q
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31.

32.

33.

form STerEe B TR Tl 1S {9, 9@ AB = D %
FHealeR g I Sh-3Neh IU HT 2 | 99 Ha18 h Eefr

B

I O

A

(D

2 D
3p
2

5

(4) ZD

= fovg, A : (T 3™ @), B : (TH dac IR
FHdt) qA C : (Th JAHR Bgl), W J@F *
geaqE M qen B R R, @UE hivig oI o | A9
ufifa s1ef & ufta: =shor o @ 8 | 32 formraEen |
M & fau fhu 99 ot 3mewEss wET (W) & fag
-9 Hoy TE R 2

(1) WB>WA>WC

(2) WA>WB>WC

(3) WC>WB>WA

(4) WA > Wc > WB

3

TSI m 1 Teh TGN TChl, 4m ZeIHM % fehdl
@ fOr ek & wug a1 § | WEE F UvEN, g
Teoht fom ragen § o a1 8 | 9 ook ek
SRR 3T v &, 41 TeaHE T (e) I HH BIT
(1) 038

(2) 025

(3) 05

(4) 04

Frafafaa @ 9 wH-01 w99 @ 8 2

(1) =¥ o1 3muferes i =1 foiy a2 |

2) wfqe odur =1 divea o 3o afafsen &
FAHEAT BTl B |

wrefer wdor aeff edor & A BT R

Tff wfor TqureR i fomTd TEeTs i fomn % THE
B 8 |

3
(4)

31.

32.

33.

t3§.| £ %Egy initially at rest and sliding along a

frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

h B
D
l A
(1) ;D
@ D
3) %D
@ 2p

Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed » about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) Wg>W,>Wgq
(2) Wuo>Wg>Wgq
3) We>Wg>W,
(4) Wr>Wi>Wg

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

(1 08
(2) 025
3 05
(4) 04

Which one of the following statements is
incorrect ?

(1)
(2)

Frictional force opposes the relative motion.

Limiting value of static friction is directly
proportional to normal reaction.

3

Rolling friction is smaller than sliding
friction.

Coefficient of sliding
dimensions of length.

friction  has

4)
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35.

36.

37.

frer-8m B 3% wora # et T mwet SR 7
Wﬂﬁﬂﬂ%lwﬁm%wﬁaaqﬁ)%
RO ZGHT AT 0 ¥ 6 m/s B MG 7 | I 0
forgq-am $ e Iopfia w0 & i 2 | W A %
T H R I S YhUg qeh Td HdI B B | 0 &
3 Tvs & o= fgeln wR &% shwd an i sfied
91 U 7

(1) 1m/s, 3:5m/s

(2) 1m/s, 3m/s

(3) 2m/s, 4m/s

(4) 1-5m/s, 3m/s
M HI 0 o frdl oo 3Md 951 ABC W m

SEIHT o1 IS sl AR e 8 | 39 o I grff
3R HIE @0 ‘@ oo Smar 2 | sateh i o W R

T & U a 3 0 & o= Gy 8
A
2
a
0
C B
(1) a=gcosH
_ 8
@ a=an0
3) a= 2
cosec 0
(4) a=gtan6

forg (2, 0, - 3) Mm@ ae1 F = 4] + 5] — 6k @1
g (2, — 2, — 2) % af@: ATl &

1) -71-83 -4k

@ -—47-5 -8k

3) -8i -4 -7k

4) —71-43 -8k

Torelt B = 3TUTA T Y g % AT I AT 0-001 em
JeqaHT® I B W gRT | H&A 9 H A
5 mm 3R IAE M H I T Tad | 25 WA
FW B | I T I H I IR — 0-004 cm B, A g
T T A B

(1) 0053 cm

(2) 0525 cm

(3) 0521 ecm
(4) 0529 em

35.

36.

37.

t3§.| AE: 8)91 car with charge q moves on a frictionless

horizontal plane surfatg under the influence oga
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are
respectively

(1) 1m/s, 3-5m/s

(2) 1m/s, 3m/s

(3) 2m/s, 4m/s

(49 1-5m/s, 3m/s

A Dblock of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 6

for the block to remain stationary on the wedge
is

A
2

m
C B
a=gcosH

a

(1)

g
2 a=
@) sin 0

3) a= 2
cosec 0

(4) a=gtan® N
A A A

The moment of the force, F =41 + 5j — 6k at

(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
1 -7i-8j -4k
AN A A
(2 -4i-j -8k
AN A A
3 -8i-4j -7k
A A A
(4) -7i-4j -8k

A student measured the diameter of a small steel
ball using a screw gauge of least count
0-001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0053 cm

(2) 0525 cm

(3) 0521 cm

(4) 0529 cm
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39.

40.

41.

od €9 F FOH R @ 7 | 39 Tl 1 geqqH THH
T@d gu wh B # gfg i ot R T % faw
Frfefga o @ s vifaes afyr fer @ 2

(1) =off fas =t

(2) gcd I

(3) hIvi A

(4) IV o

T & IR IR el wan § wfowe ug i et
A, B 3R C W s HArd A K, Kp 3 K 7 |
AC < 31 ® qen g i feufa S w SB fesmgem &

AT ACH T g | a9

(D
(2)
3
(4)

Kg <Kj) < K¢
Ky > Kg > K
Ky <Kp <K
Kg > K, > K¢

afe & &1 geEmE 1i0 AT B qT A Teed eyl
oo afmmT # 10 T |1, @ F=faRad 9 @ wE-a
T 7T 72

(1) Yot T &S AT 1 STEAHIA HH 8 S |
(2) ol W = 3feeh e & ST |

(3) aut i oS axelt W Afees asft & ) |

(4) geeft W g’ o AW H qitEd & B |

TH I Ml dled d H § | Aled W A awg H
TIFTAE TS et (K,) o 1e-81e gqoil Tias S
(K,) +ff gt 3 | Tl & foU K, : (K, + K,) & 39«
g

(1) 10:7

(2 5:7

(3) 7:10

4) 2:5

39.

40.

41.

t3§.| A: OsQHd sphere is rotating freely about its

symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(D
(2)
3
(4)

Rotational kinetic energy
Moment of inertia
Angular velocity

Angular momentum

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(D
(2)
3
4)

Kg <Kjp < K¢
Ky > Kg > K¢
Ky <Kp <K
Kg > K, > K

If the mass of the Sun were ten times smaller
and the universal gravitational constant were
ten times larger in magnitude, which of the
following is not correct ?

(D

Time period of a simple pendulum on the
Earth would decrease.

(2)

Walking on the ground would become more
difficult.

(3) Raindrops will fall faster.

(4) ‘g’ on the Earth will not change.

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy

(K,) simultaneously. The ratio K; : (K; + K,) for
the sphere is

1) 10:7

(2) 5:7

3 17:10

4) 2:5
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43.

44.

45.

fimar 2 | TUF S % RO IEH FT 39S Bl B |
M & oifqg (effaer) a9 W 3w = H X

frfefaa o & fopeeh STIsRUTIITdT Bt 8 2
1
2 r?
3
4

fopelt pfsrem g fafsfa wfe P 2 qon @w wonee,
o W Afhan ot fafefd wdt 7 | o 3l @@
HIWRT 1 q9 iEfda X fen srar &, e {6 g

%xomdmwﬁwmﬁ%%ﬁaw%,a‘r

35 g foafeita siferd nP & STt 8 | n o1 A AT

256

(1) 31

(2)

3

oo |

81
256

T IR THE gt % 94 § R Al b AEaq off auH
F | 98 IR I STIIEY-HE T ATFA A 3R g TR
H STITI-FIC H &TFA 3A 7 | A T@ F A
Ug AR T g H AL H glg S 7, o g AR
# T 7 oft saft @ 3fg FE F T foha s@ R
SATaYhdl Bt ?

(1) 4F

(2) 6F

3) 9F

4 F

(4)

M g (1:013 x 10° Nm™2) 3R 100°C a9 W
0-1 g 9@ % T &I 100°C H 99 H i@ & &
I 54 hell ST Hall I TETIHRAT B & | IR
3UF WY H AFAA 167-1 cc 7, 9 39 T A
F=ANeh Sl § qiadd &

(1) 42:24J

(2) 2087J

(3) 104-3J

(4) 845J

43.

t4§.| A: gﬁgﬂ sphere of radius ‘r’ falls from rest in a

viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

1) P
(2) 2
3 1
4) 4

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength % Ao, the power radiated by it

becomes nP. The value of n is

256

(1) a1

(2)

6))

oo |k

81

(4) 556

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

(1) 4F
(2) 6F
3) 9F
4 F

A sample of 0-1 g of water at 100°C and normal
pressure (1-013 x 10° Nm™2) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167-1 cc, the
change in internal energy of the sample, is

(1) 42-2d

(2) 2087dJ

(3) 104-3J

(4) 845J
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47.

48.

49.

50.

51.

EHE R

(1) HNO, NH,CI, NO, N,
(2) HNO,, NO, NH,CI, N,
(3) HNO,, NO, N,, NH,CI
(4) NH,CI, Ny, NO, HNO,

frafafega & @ - T MFg" AP § I H
e g ?

(1) B

(2 Al

(3) Ga

4) In

e 3@ H WIH § T@d g¢ fefaRgd § @
A Grg H WA UG b Aq=RE H feRam o
Tehdl 3 ?

(1) Mg

(2) Zn

(3) Fe

4) Cu

frafafad & @ yu 13 & o= & waTfoges Breamstt @
ST T TE B ?

(1) B<Ga<Al<Tl<In

(2) B<Al<Ga<In<TI

3) B<Al<In<Ga<Tl

4) B<Ga<Al<In<Tl

gl & fore frefefea 8 @ -8 oA g 787
7?

(1) T & sraar @fi gdAreHs e

FareTd g & |

aft Sffedienres Afiende & |

(3) weft ket TR TR} ST S F |

(4) FARIA <l TETieh Soieei= Ugu Tt 7 |
CIF; & §&=AT § g T ‘Cl W THIhR IH|
TGl hl TG B

(1) =X

@

3 TH
(4) o=

(2)

417.

48.

49.

50.

51.

t4§.| "ﬁignlorrect order of N-compounds in its

decreasing order of oxidation states is
(1) HNOg, NH,CI], NO, N,
(2) HNOg, NO, NH,CI, N,
(3) HNOg, NO, N,, NH,Cl
(4) NH,CI, Ny, NO, HNOgq

Which one of the following elements is unable to
form MFg' “ion ?

(1) B

(2) Al

3) Ga

4) In

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?
(1) Mg

(2) Zn

3) Fe

4) Cu

The correct order of atomic radii in group 13
elements is

(1) B<Ga<Al<Tl<In

(2) B<Al<Ga<In<Tl

3) B<Al<In<Ga<Tl

4 B<Ga<Al<In<Tl

Which of the following statements is not true for
halogens ?

(1)

All but fluorine show positive oxidation
states.

(2)
3
4)

All are oxidizing agents.
All form monobasic oxyacids.

Chlorine has the
enthalpy.

highest electron-gain

In the structure of ClFg, the number of lone pairs
of electrons on central atom ‘CI’ is

(1)
(2)
3)
(4)

four
two
one
three
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52. frfafea sifufswn sf@en § g seag P, Q 3™ R |52
e q%?lTﬁl'Q :
EEL!
AICI,
© + CHyCH,CH,Cl ———2
(i) Oq
o o > Q+R
(ii) H3O%/A
P Q R
CH(CHy,), OH
L @ CH,CH(OH)CH,
CH,CH,CH;  CHO COOH
CH,CH,CH;  CHO
3) CH,;CH,, - OH
OH
CH(CHy,),
4) @ CH; — CO — CHy
53. frfafega § @ #H-a1 ANfies fRaesmam s 1 Fehar | 53.
3?
(1) Swsiigeh o
(2) UHifeTES
(3) Ufie
(4) TATSHH

tal.co

ny
Identify the major products P, Q and R in the

following sequence of reactions :

Anhydrous
AICl,
@ + CHzCH,CH,Cl ———=—>
(i) 0,
P— _>Q+R
(i1) H3O*/A
P Q R
CH(CH,), OH
(1) @ CH,CH(OH)CH,
CH,CH,CH;  CHO  COOH
HelNeNe
CH,CH,CH;  CHO
3) @ CH4CH, - OH

OH

CH(CHjy),
CH; - CO — CH,

4)

o O

Which of the following compounds can form a

zwitterion ?
(1) Benzoic acid
(2) Acetanilide
Aniline

3

(4) Glycine
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Dl Qad el O <1k bRih 5 FRAGEO

Y HI9-G1 YT T 8 ?

(1) SehalTse T HAH 39 3@ 3 |

(2) A fgfsrarcnss wa Ffsharcns gl % Thaeh o
T4 B |

(3) ¥ faftm W wgas g@ast & o=
UEEASTh WY Bd @ |

(4) TTh ETH OIS H Yo HEEASH €Y
AR |

(3!

'I&egmmg cross-linked or network polymers,

which of the following statements is incorrect ?
(1
(2)

Examples are bakelite and melamine.

They are formed from bi- and tri-functional
monomers.

They contain covalent bonds
various linear polymer chains.

between

3

(4)

They contain strong covalent bonds in their
polymer chains.

55. Nitration of aniline in strong acidic medium also
55. e W ; Y U e g gives m-nitroaniline because. .
m ARl ot a2 i W e goes tomepontion. T E
(1) foeems ﬁqﬁaﬁ | ng?j e sl (2) In electrophilic substitution reactions
m-feufd o ST 3 | amino group is meta directive.
(2) FogeEEl Wigedmaw offufRen ® UMl Wg (3) In spite of substituents nitro group always
m-fFcsepil 2 | goes to only m-position.
(3) faeemye hi Iufeafa & EIES q-rggj LB ghI (4) In acidic (strong) medium aniline is present
Faed m-feafd W& ST | as anilinium ion.
(4) ot (Joet) "iem | el Ufiefifw 3 |56.  The difference between amylose and amylopectin
% €9 H gt 3 | is
(1) Amylopectin have 1 — 4 o-linkage and
56. Ufree wa ufrerfae | fafvwerdn & 1 — 6 B-linkage
(1) Ve § 1 — 4 o569 91 1 — 6 B9 8 (2) Amylose have 1-—4 o-linkage and
(2) U@ d 154 997 da 1 > 6 B-aEH 2 1 — 6 B-linkage
(3) Uienfdead 1 - 4 a9 AT 1 - 6 o-9Yd (3) Amylopectin have 1—4 o-linkage and
2 1 — 6 a-linkage
(4) UfyeE W g T o o 8 (4) Amylose is made up of glucose and
galactose
57. 23 g WifHsh 3T qT 45 g HA(RINTF 3 H W% |57, A mixture of 2-3 g formic acid and 45 g oxalic
H,S0, ¥ T sa™ W 3cafsia T fizror 1 KOH acid is treated with conc. HySO,. The evolved
% BIC THST O T @1 8 | STP W & 3T 3G gaseous mixture is passed through KOH pellets.
1 9T (g H) Bm Weight (in g) of the remaining product at STP
1 28 will be
@) 30 (1 28
3) 14 2 30
4) 44 3 14
4) 44
58. fmfafaa # @ #H- sriwae f waffos sy _ , o
W 39 58. Which of the following oxides is most acidic in
! nature ?
(1) BaO (1) BaO
(2) BeO (2) BeO
@) MgO (3) MgO
(4) CaO (4) CaO
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T BT HATFATES TRV TgTh Tg7 & 2

t al
59.

L
V%nc oxide of nitrogen is not a common

pollutant introduced into the atmosphere both
due to natural and human activity ?

(1) N0
(1) NyO
(2) NO,
(2) NOgy
(3) NyOg
(3) NyOj4
4) NO
(4) NO
60. A H Na § WA B R ﬁgﬂ 60. The compound A on treatment with Na gives B,
PC.15 & | 3.“| A1 HTEH W IR C @ 2 | B W C and with PCl; gives C. B and C react together to
QT B @ § srfufshar M W STEufae $or S give diethyl ether. A, B and C are in the order
| A, BAam C%a H &
i g g (1) CgyH5Cl, CoHg, CoH5OH
(1) CyH5Cl, CoHg, CoH5OH
(3) CyH5OH, CyHg, CoH5CI
(3) CyH5OH, CoHg, CoH5CI
(4) CyH5OH, C,H50Na, CoHCl
. 61. The compound C;Hg undergoes the following
61. TH Afiw C,Hg Ffafaa srfufsramsti & e 2 ,
reactions :
3Cl,/A Br,/ Fe 7n / HC1 3Cl,/A Br,/ Fe 7Zn/ HC1
CHy —2>A—2—>B— C Hy —2>A-—2">B C
I ‘O’ R The product ‘C’ is
(1) 3524 G-Wﬁﬁ@ﬁ:{ (1)  3-bromo-2,4,6-trichlorotoluene
(2) o-@"ﬁ?ﬁ@'@f (2) o-bromotoluene
(3) m@ﬁﬁ@i‘r{ (3) m-bromotoluene
(4) p-EﬁTﬁ'{T@é:l (4) p-bromotoluene
62. Hydrocarbon (A) reacts with bromine by
62. 8I3'§:IESIE (A) STHH & gfaeam gro iR i substitution to form an alkyl bromide which by
T Ufeha FmEe o 8 S T _3,’?:\_’[ sfufsen gra Wurtz reaction is converted to gaseous
A grggeRey § UiEafda gar & e 6 am @+ hydrocarbon containing less than four carbon
e TEY 8 | (A) R atoms. (A) is
(1) CH;-CH,4 (1) CH;-CH;
(2) CH,=CH, (2) CH,;=CH,
(3 CH=CH (3) CH=CH
(4) CH4 (4) CH4
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R0l 93099 sFEQT N B4/ 035004
sp?, sp?, sp, sp HeRLUT ST STl & ?
(1) CH,=CH - CH = CH,
(2) CH,=CH-C=CH
(3) HC=C-C=CH

(4) CHy;-CH=CH-CH,

feafafga & @ o9 wEvARA gaifte mh
Ifera & 2

Y:
N
N

NO,
®
O
02
®
H

64.

H
Y H

Y

NO,

frafafea & @ ufqeamoest & -1 ya@ & ol #
HH-A wE 2 ? (R = Ufewa)
(1) -NH,>-OR>-F
(2)
(3)
(4)

s

(1)
(2)
3
(4)

o

65.

—-NRy<-OR<-F
-NH; <-OR<-F
—-NRy>-OR>-F

tal.co

63. V%hlm of the following molecules represents the
order of hybridisation sp2, sp2, sp, sp from left to
right atoms ?

(D
(2)
3
(4)

CHy=CH - CH = CH,
CHy=CH-C=CH
HC=C-C=CH
CH3;-CH =CH - CH;

64. Which of the following carbocations is expected to

be most stable ?

H

&
0
¢

NO,
®
Oy
Og
®
H

Y

NO,

Which of the following is correct with respect to
— I effect of the substituents ? (R = alkyl)

(1) -NH;>-OR>-F
(2)
(3)
(4)

a

(D
(2)
3
4)

s

65.

—-NRy<-OR<-F
-NH,; <-OR<-F
—NRy>-OR>-F
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67.

68.

OH O™Na*
@ + CHClg + NaOH ———> @ CHO
o i Seidgi e 8

o
(1) STEFARMMA oM (CHCy)

®
Siffe e=E (CHO )

®
SRFARMIIS g9 (CHCl )
SEFARHTEH (:CCly)

(2)
3
4)

HIaifrdfctsh Tl o FIUATH THCT MVh FeIuH
I Ufcegssl, HISHl q J&1 d foh Ucehigicl &
I Bid & | I8 Tohdreh HIT BT B 2

(1) Hraifadicieh 3Tl sl ATTh TR TUE TS
e ATHIO Sl o g Bl &

ISR 3T o a4 &
3F=q:3MfUeeh FTEeIoH S8 a1 °
FAATNTIH IEGIH qoH T4 &

(2)
3
(4)

T A B A, CgHy(O S foh NaOI (Y 1 stfurfsman
NaOH & oieh s 1) | 1fufshan sk enerfores

T arert Gl a8 T B |
A I Y AT B

1 @— (|3H — CHy 3R I,
OH

@—CHZ—CHZ—OHaﬁIIQ
HyC ~_ ) CH, - OH s,

CH,

4) CH, G OH 3f I,

(2)

(3

67.

68.

tGQ.l ) I% glryreaction

OH O Nat

@ + CHCl, + NaOH ——> @ CHO

the electrophile involved is

©
dichloromethyl anion (CHCl,)

@
formyl cation (CHO )

(D
(2)

@
(3) dichloromethyl cation (CHCl)

(4) dichlorocarbene (:CCly)

Carboxylic acids have higher boiling points than
aldehydes,
comparable molecular mass. It is due to their

(D

ketones and even alcohols of

more extensive association of carboxylic
acid via van der Waals force of attraction

(2)
3
(4)

formation of carboxylate ion
formation of intramolecular H-bonding

formation of intermolecular H-bonding

Compound A, CgH,,0, is found to react with

NaOlI (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic
smell.

A and Y are respectively

(1) Q_ ?H — CH3 and IZ
OH

¢ )~ CH, - CH, - OH and I,
HyC ~_ )~ CH, - OH and I,

CH,

(4) CH, O— OH and I,

(2)

3
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70.

71.

72.

73.

AR o TN gk ATEEn §  fiewy den
@gt Toha i fafdse hifs

i 1 Hicr 11
a. Co’* i. 8 BM.
b. cr¥t ii. /35 B.M.
c. TFedt iii. 3 B.M.
d.  Ni%* iv. /24 BM.
v. /15 BM.
a b c d
1 v i ii iii
2 i ii iii iv
3) iv v ii i
@ i v i ii

Fafafgd # @ SH-91 A d-d FHH ST § a9
Y & ST grEhed ol ?

(1)  MnO,
2)  Cry02”
9
(3) Cro3
2
4) MnOj
IR e, Fe(CO)5 2
(1) Frergs
(2) THHh
(3) AqShohgh
4) fehss

HHe [CoCly(en),] GRT FEfRid HHTEREAT 1 TN &
(1) A GuTEFad

(2) SUHEHAS THEIST

(3) AT THTSRIET

(4) o AHTEIEA

[Ni(CO),] G I il we graehr or 3
(1) o gwaelt sarfuf we sgraehE
(2) FISHABE SATHIT Td Tfagraehi™
(3) ot wuaelt sfufa wa wfogreh
(4) FHEh SATUL T SATTrh

fe8!

70.

71.

72.

73.

1\%3&1 the metal ions given in Column I with the

spin magnetic moments of the ions given in
Column II and assign the correct code :

Column I Column II
a. Co®t 1. J8 B.M.
b.  Cr3* ii. /35 B.M.
c. Fe3* iii. 3 B.M.
d  Ni%t iv. /24 B.M.
v. 15 B.M.
a b c d
1 iv i ii iii
@ i ii iii iv
3 iv v ii i
(4) i v i ii

Which one of the following ions exhibits
d-d transition and paramagnetism as well ?

(1) MnO;
2—

(2) CI‘207

2—
(3) CrOy
4) MnO>"
Iron carbonyl, Fe(CO)jy is
(1) trinuclear
(2) mononuclear
(3) tetranuclear
(4) dinuclear

The type of isomerism shown by the complex
[CoCly(en)s] is

(1) TIonization isomerism
(2) Coordination isomerism
(3) Geometrical isomerism
(4) Linkage isomerism

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) square planar geometry and paramagnetic
(2) tetrahedral geometry and diamagnetic

(3) square planar geometry and diamagnetic
(4) tetrahedral geometry and paramagnetic
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75.

76.

71.

Hrgdrsli U 3Tl o {90 & s9mn T B

a. 60 mL M HCI + 40 mL E NaOH
10 10

b. 55 mL M HCI + 45 mL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

0 ¥ fohgert pH, 1% SR 81T ?
(1 d

(2 a
3 b
4) c

frefafed & @ F9-8 0 | WA H Thed wHa
it wedft 2 2

(1) 3T % 37199 9T Td 37 forg aFi ©

(2) had ATE & IHR T

(3) <hact IR % A TRHATT T

(4) o IR & AT g |

NH,, H,, O, @1 CO, % fou aret awea e
HAM: 4-17, 0-244, 136 TS 359 feu wuw ¥ |
fFrfafea & @ =H-H g o8 @ @ gfaa 8 S
77
(1)
(2)
3)
4)

Oy

H2

NH,

CO,

BaSO, #1298 K W Ja1 # faerar 2-42 x 1073 gL ™!
® | forctd e (K ) i A §

(feam T 8 BaSO,, 1 Wiek ge9WH = 233 g mol 1)
(1) 108 x 107* mol® L2
(2)
(3)

(4)

108 x 1072 mol®2 L2
1:08 x 1079 mo12 L2

1-08 x 10 ® mol2 L2

75.

76.

71.

tﬂ.l 'lgﬁ(gying solutions were prepared by mixing

different volumes of NaOH and HCI of different
concentrations :

a. 60 mL M HCI + 40 mL iVI_O NaOH

10

b. 55 mL E HCI + 45 mLL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?
(1) d

(2) a
3 b
4) ¢

On which of the following properties does the
coagulating power of an ion depend ?

(D

Both magnitude and sign of the charge on

the ion
Size of the ion alone

(2)
6))

The magnitude of the charge on the ion
alone

4)

The sign of charge on the ion alone

Given van der Waals constant for NHg, H,, O,
and CO, are respectively 4:17, 0-244, 1-36 and
3-59, which one of the following gases is most
easily liquefied ?

(1)
(2)
6))
(4)
The solubility of BaSO, in water is

2:42x1072 gLl at 298 K. The value of its
solubility product (Ksp) will be

Co,

(Given molar mass of BaSO, = 233 g mol 1)

1-08 x 10" mol® L2

(1)
(2)
3)

4)

1-08 x 102 mol® L2

1-:08 x 1079 mo12 1.2
1-08 x 10 mol® L2
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79.

80.

81.

1 atm Td 273 KW 0-00224 L &1 919 % fow
0-18 g 91t & faIg

(3) 18 mL e & forw

(4) 10739 5 & forg

oW hife T fgdir wife srfufsranet o @t fafimar 2
(1)  gem wife <t Afufsrn o 3@ fopam 1 wepar

; Teda =ife 1 srfirfsran &1 3R 7@t foram s
TehdT B

S9H TS <hl SAfHlshan Al s1d-31Y [A], W fasfe
Tel &; fgdta whife ot srfufsen 1 srd-amy (Al
W R R

g wife it Affseen w1 an sifieres 6
argaret W 98 war g; fgdm @i &
arfurfspan w1 9 3TfiehRes it TTgarett WAt
HT B

goq wife St Affspan w1 9 stfirers 6t
Trgaratt W it wear g; g ife s stfefsean
1 AT 3fyprRes i Fgarett | R & s
3

CaH,, BeH,, BaH, # 3T&e J&{d &I %A 7

(1) BeH, < BaH, < CaH,

(2) CaH, < BeH, < BaH,

(3) BeH, < CaH, < BaH,

(4) BaHl, < BeH, < CaH,

Jra feu U e ®, s hr e SYaEen #
ited fafie faar. o (emf) AFT W w0 TR

- 182V - 15V
BrOy, — BrO3 ——> HBrO

(D
(2)

(2)

3

4)

Br <7052V B2 “Tosv
S T T e
() Br,
(2) BrO;
(3) BrO;
(4) HBrO

79.

80.

81.

t7§.| ' Iﬁ Q/mch case is the number of molecules of water

maximum ?

(1) 0-00224 L of water vapours at 1 atm and

273 K
(2) 0-18 g of water

3
(4)

The correct difference between first-
second-order reactions is that

(D

18 mL of water

1072 mol of water

and

a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

the half-life of a first-order reaction does not
depend on [A],; the halflife of a

second-order reaction does depend on [A],

(2)

the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

3

the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

4)

Among CaH,, BeH,, BaH,, the order of ionic
character is
(1) BeH, < BaH, < CaH,

(2) CaH, < BeH, <BaH,
(3) BeH, < CaH, < BaH,
(4) BaH,; < BeH, < CaH,

Consider the change in oxidation state of

Bromine corresponding to different emf values as
shown in the diagram below :

- 182V - 15V
BrOy — BrO3 —— HBrO

Br

«— B
10652V 2 1595V

Then the species undergoing disproportionation
is

(D)
(2)
3
4)

BI'Z

BrO;
BrO;
HBrO
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83.

84.

85.

86.

MnO, +Cy05 + H* — > Mn2* + CO, + Hy0

¥ fore wafra Tt % fore st % T T
H

MnO; C,07- H'
L 2 16 5
2) 2 5 16
3 16 5 2
4 5 16 2

srfufsran & f=fefaa § @ wH-H g0 s1feaw scae
fomfor % foe sTeert 7,

Ay (g) + By (g) = X, (g)
3= d¥ U9 3 <«

=7 a9 wd = T
=1 a9 v 3= T

3= d9 g 1 T

AH=-XkJ?
1)
(2)
(3)
4)

e TSR ! TRFh |Igdl I AT fohal ST 2,
@ I wife afufsran & fou s1ed-ommy

(1) o g 2

(2) 83

(3) T B @

(4) oaRafdd Td B

Xy, Yy 3R XY I 7@y foriisH SHaleti &1 37U
1:05:1 8 | XY & fowmm &t wdeh
AH = — 200 kJ mol™! & | X, & 31mae @ i
gt
@)
(2)
3)
(4)
3TTest g wefleRtor o e U ‘e’ TEfid B
(1) T ved & ge ufeed foagq-am 3
(2) 79 3Rl & A |

(3) | 37upsti & U 4@

(4) 79 3T &% ALY RNV Tl

800 kJ mol*
100 kJ mol*
200 kJ mol
400 kJ mol !

83.

84.

85.

86.

tal.com

@%From : http://cbsepor 2

For the redox reaction
MnO; +Cy0%” + H'—— Mn®" + CO, + H,0

the correct coefficients of the reactants for the
balanced equation are

MnO; C,07~ H'
1 2 16 5
2 2 5 16
3 16 5 2
@ 5 16 2

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay (g +By(g) = X5(g) A H=-XkJ?
(1) High temperature and high pressure
(2)
3)

4)

Low temperature and low pressure
Low temperature and high pressure

High temperature and low pressure

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(D
(2)
3
4)

is tripled
is doubled
is halved

remains unchanged

The bond dissociation energies of X,, Y, and XY
are in the ratio of 1: 0-5: 1. AH for the formation
of XY is —200 kJ mol ', The bond dissociation
energy of X, will be

(1) 800 kJ mol*
(2) 100 kJ mol*
(3) 200 kJ mol*
(4) 400 kJ mol™*

The correction factor ‘a’ to the ideal gas equation
corresponds to

(1)

electric field present between the gas
molecules

(2)
3
4)

volume of the gas molecules
density of the gas molecules

forces of attraction between the gas
molecules
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88.

89.

90.

CN*,CN~, NO da1 CN
H I fopuehl Imam oTey Hif R 2
(1) CN*
(2) CN~
3) NO
(4) CN
Tefifyem wh o (X) A ATk ok wh i
Affs s 7| IR (X) w1 Faw stawen ©
S fa=ama 1s? 252 2p8 R, a1 3@ Af &
T G 7
(1) MgyX
(2) MgX,
(3) MgyXy
(4) MgsX,
TRRA 1 AL % A T bee HEAT BT @ | 900°C %
IR IE fee GCEAT § afafdd & ST B | 3T %
% A9 T TFcd T 900°C 19 T Ted § AT AT
(W <fSTT 3TeRA 1 HieR geIH™ Td qeT] frsem a
% @y fer 8)

(D
(2)

(3

(4)

Frafafaa & @ a1 FeF @ 8 2

(1) N Y] T SRTeh o=

1s2 2s2 2p)1( 2p}1, 2pi

MO LA R

Th hefeh i deien wemel | fifdy ® wein
Th T § T Seiagia W e e §
ffdz 2

‘s HH H AT Bl A helh BV FAT
I F TR R |

d 2 % e m 1 99 A 7 |

“- sl )5 2%

(2)

3

4)

88.

89.

90.

t8§| : (%erﬂer the following species :

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) CN*
(2) CN~
(3) NO
(4) CN

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 152 2¢2 2p3, the simplest
formula for this compound is

(1) MgoX

(2) MgX,

(3) MgyXs

(4) MggX,

Iron exhibits bce structure at room temperature.
Above 900°C, it transforms to fec structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

33
442

3

(1

(2)

3

(4)

Which one is a wrong statement ?

(1)

" sitn 7

The electronic configuration of N atom is
162 252 2P} 2py 2p,
I AR

An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

(2)

3

Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

4)

The value of m for dZ2 is zero.
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92,

93.

94.

95.

96.

97.

(D
(2)

HIghT

[

Tiegiw

(3) I Fowt st

4) 37

qrg fv=m = R 2

(1) S T b I Th 37 % HY T

(2) T T JHh I G YA hrgohl oh {1 HATH

(3) TH W Al % o W WK w1 & e o7ei &

Y GeATH

(4) Jmeh GerRE S PrEee

Frafafea & @ sH-a1 9Iew ey i Th Sl & w1

TE frere Ty qunian @, e i ot ueh-g & fo

AT e =5k U1 g7 L TRl ?

(1) e

(2) ZFH

(3) &mElgeT

(4)  arren

T HUT HT TR § N o U g@ ATseeH § TR

AT T WUSHOT feham ST Tl B 2

(1) -196°C

(2) -80°C

(3) -120°C

(4) -160°C

frafafaa & & a1 a9 SRRl § Thifd s

TEd % e IEr & 2

(1) uefiem

(2) wifem

(3) ity

(4) hfcyem

HIREHR Y96 § NAD* 31 ftent 91 @ ?

(1) g’gq.ﬁ.lﬁ. Ty & fou e faaeiess |9
|

TE Th SoIF aTEeh b &9 § B HaT B |

Ig Teh ToH & &9 8 % LT 7 |

g'a' AT vaua & forw eif<m soaeld ordt
|

qredl g @g 1 Ay frefafad § @ fee ww

BT 8 ?

(1) ¥Had a

(2) W&

(3) Wi

(4) i i @ gEl

(2)
3
(4)

foit

92.

94.

95.

96.

97.

: &(9&‘1 is not produced during photosynthesis by

(D
(2)

Cycas
Nostoc
(3) Green sulphur bacteria
(4) Chara

Double fertilization is
1)
(2)

Fusion of two male gametes with one egg

Fusion of one male gamete with two polar
nuclei

3

Fusion of two male gametes of a pollen tube
with two different eggs

4)
Which one of the following plants shows a very
close relationship with a species of moth, where

none of the two can complete its life cycle without
the other ?

(D)
(2)
(3)
(4)
Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

(1) -196°C

(2) -80°C

(3) -120°C

(4) -160°C

Which of the following elements is responsible for
maintaining turgor in cells ?

(D
(2)
3
(4)

What is the
respiration ?

(D)
(2)
3)
(4)

Syngamy and triple fusion

Banana
Yucca
Hydrilla
Viola

Potassium

Sodium

Magnesium

Calcium

of NAD" in

role cellular

It is a nucleotide source for ATP synthesis.
It functions as an electron carrier.
It functions as an enzyme.

It is the final electron acceptor for anaerobic
respiration.

In which of the following forms is iron absorbed
by plants ?

(1)
(2)
3)
(4)

Free element

Ferrous

Ferric

Both ferric and ferrous
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99.

100.

101.

102.

103.

Freafafga 8 @ S9-a1 99 Tm=Ia: S R S
27
(1)
(2)

A IS

Ti wTfsHs

(8) IEEE (Y39 d13WH)

(4) pBR 322

qEUGIE HEFRT R FeAl g R < A 3Ee
@ sl fomr TgSfta o SaHErgAi % ITAN H R
g AT 8 ?

(1) Sg-37q=ed

(2) RIS (St g8y

(3) Sa-3g=

(4) SE-3yo

e TN % I ogafimha: Fq@id Sfai &
Yadd % SR § GIET o oA o (1T A H hiF-A1
TS TR B 2

(1) 3TafRe gfETer sEeT afifd (RCGM)

(2) S wa SheEnfies TgEy™ uiwg (CSIR)

(3) W TYfdeH srgEy™ uftyg (ICMR)
(4) ITgafeR AMEIEER Youe |fifd (GEAC)

Ui T@el AMfRAT (PCR) | <RI &1 6@l A
TR ?

(1) Toepdieto, fowao, swieH

(2) oFie, foaeao, fohdient

(3) oo, fospefientor, SieH

(4) Toepdieto, srfiem, foao

g g 1 g -

(1) A=, qh= —  UTGRET
(2) Fyx oWl SFeh  —  fgaet id
(3) TTESISITEH ~ o A
(4) . s — B

e foesht et g =mae i Tk A9 fohe Wl Uewe
(wehear) Toparm o o, wrarfy O fored wa A o wHy
g foemm € | = fhue wrafaq 2 2

(1) < U

(2) e FER

(3) Co-667

(4) A

fod

99.

100.

101.

102.

103.

\ﬁ}%ﬂif of the following is commonly used as a

vector for introducing a DNA fragment in human
lymphocytes ?

(1)
(2)
(3) Retrovirus
(4) pBR 322

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

(D
(2)
3
(4)

A phage
Ti plasmid

Biodegradation

Biopiracy

Bio-infringement

Bioexploitation

In India, the organisation responsible for

assessing the safety of introducing genetically
modified organisms for public use is

(1) Research Committee on Genetic
Manipulation (RCGM)

(2) Council for Scientific and Industrial
Research (CSIR)

(3) Indian Council of Medical Research (ICMR)

(4) Genetic Engineering Appraisal Committee
(GEAC)

The correct order of steps in Polymerase Chain

Reaction (PCR) is
(1)
(2)
3
4)

Denaturation, Extension, Annealing
Annealing, Extension, Denaturation
Extension, Denaturation, Annealing

Denaturation, Annealing, Extension

Select the correct match :
(1) T.H. Morgan — Transduction
(2) FyxRecessive parent — Dihybrid cross

Nucleic acid

3
(4)

Ribozyme -

G. Mendel — Transformation

A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been
present in India for a long time. This is related to

(D)
(2)
3
4)

Lerma Rojo
Sharbati Sonora
Co-667

Basmati
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105.

106.

107.

108.

109.

110.

(1) XOyeR o fufmr : feger

(2) ABO T G . HEYHTeT

(3) HEH HS WAVl : Wgforhodl

(4) dAw=. qH ;. HEAEAl

g HUH I T

(1) TATSHIET TG § 9T od 8 |

(2) e it e fafesr dafaes gro foerfa fomam e
o7 |

(3) “dgerar’ wise o1 AT Henfor TeEa A foham |
(4) YTGHAYT Sl GIW TH. e A &t o |
.UA.T. % AedERe vfisfa w1 TR yHr weavem
fered wria T o 2

(1) g™ H

(2) Sffamy §

(3) Hash A

(4) foumpd

Frafefga & @ frmd o e = § Fad T a1
& I BT 8 ?

(1) ™

(2) hegd

(3) g Tfisfia

(4) Gdrar

‘Stiite foheeh T 3cuTfed &1 @ ?
(1) ANYFHeT grT

(2) gt fawrsH g

(3) g fawrsH g

(4) SAMYHST g/

T GHel ki AT :

(1) e Bced R Uh. WEd — 59 d2r3ad
(2) e BW MM Wi =W - At

(3) Toih IHE — BerpiHd FHH
(4) ThadTE Shd AYT g TS — 7% SR
frafafga & @ s9-a W = e % w9 A
ieferd < § T Hiied g3 ?

(1) dcfia Fe=a

(2) AFAM AT H=<: =

(3) M feRe

(4) TR

g,

105.

106.

107.

108.

109.

110.

\ﬁ}%ﬂif of the following pairs is wrongly

matched ?

(1) XO type sex Grasshopper
determination

(2) ABO blood grouping Co-dominance

(8) Starch synthesis in pea Multiple alleles

(4) T.H. Morgan Linkage

Select the correct statement :
1)
(2)

Spliceosomes take part in translation.
Punnett square was developed by a British
scientist.

3)
(4)

The experimental proof for semiconservative
replication of DNA was first shown in a

(1) Plant

(2) Bacterium

(3) Fungus

(4) Virus

Which of the following flowers only once in its
life-time ?

(1) Mango

(2) Jackfruit

(3) Bamboo species

(4) Papaya

Offsets are produced by
(1) Parthenocarpy

(2) Mitotic divisions
(8) Meiotic divisions
(4) Parthenogenesis

Franklin Stahl coined the term “linkage”.
Transduction was discovered by S. Altman.

Select the correct match :
(1) Matthew Meselson —  Pisum sativum
and F. Stahl
(2) Alfred Hershey and - TMV
Martha Chase
(38) Alec Jeffreys — Streptococcus
pneumoniae

Francois Jacob and
Jacques Monod
Which of the following has proved helpful in
preserving pollen as fossils ?

(1)
(2)
3)
(4)

4)

Lac operon

Oil content
Cellulosic intine
Pollenkitt
Sporopollenin
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112.

113.

114.

115.

116.

AT Sl BISH a1 AT shl T
ST

(3) TIX

(4) U @™ H AT o AW ATl hl T
forgar oo feam et o ST ® 2

(1) 16 far

(2) 2130«

3) 5%
(4) 2230«

frfafed 3 @ ®F- w s 9w 2 2

(1D SO,

(2) CO,

3) CO

(4) Og

freha R 2

(1) dUHE T 98 YOE Sl Sid W @ % U
=Tfe

a8 Wifqe LI J&f T el T 2

Sita & gt § @t S s

s S grr T wmfors gftee, ST 98
Tl 2

Frafafga stiest & form g o1 witfeafadm ftfis
e fekam e 2

foeffore Susierar : 120 g
i UM : 60 g

1R 3cUeh : 10 g

e w1 Hen fifis

Tt 1 fuifis

(3) SoHETET HT 3ol fifre

(4) Stemmn %1 He fRifre

THaIEed H, MWH % faspdiewr e smfvas
e il fegf § fefafae 4 @ 9@ o=
3ATH o TG H HE KT R 2

(1) Fe

2 Qa

(3) hEA

(4) ATFENH

(D
(2)

(2)
3
(4)

(D
(2)

L,

112.

113.

114.

115.

116.

: &a@elyty refers to

(D
(2)
3
(4)

Number of individuals leaving the habitat
Birth rate
Death rate

Number of individuals entering a habitat

World Ozone Day is celebrated on

(1) 16t September

(2)
3

(4)
Which of the following is a secondary pollutant ?
(1) SOy

(2) COq

3 CO

(4) Og

Niche is

(1

215 April
5th June

2274 April

the range of temperature that the organism
needs to live

(2)
3

the physical space where an organism lives

all the biological factors in the organism’s
environment

4)

the functional role played by the organism
where it lives

What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g

Primary consumer : 60 g

Primary producer : 10 g
(D)
(2)
(3)
(4)

Upright pyramid of numbers
Pyramid of energy
Inverted pyramid of biomass

Upright pyramid of biomass

In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(1) Fe
(2) Cl
(3) Carbon

(4) Oxygen
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118.

119.

120.

121.

122,

123.

124.

AT 3 HERS
e R Afora
(3) wTESifead R ufoe

(4) el 3R BIFS e

frfafad § & w-a1 s qdehrgeh! 787 8 ?
(1) i

(2) TTEHIGFIRTT

(3) d0aTsdis

(4)  sntERCIRET

et Tty fopmd v o 8 2

(1) Shamei § vaed §

(2) @t gieeprsti & a9 §

(3) ET 3T o IEA U

(4) AT o & dfshgor §

frafafgs @ @ ST Th THR-GIANO HI TH

SANTshT T 3UTE 75T & ?

(1) NADPH

(2) NADH

(3) ATP

(4) Oxygen

*igs & foru fefafga d @ ST @t 2 2

(1) IgdP &= | W A1 7 |

2 = afmears |

(3) fawfora gt wifyremiett # o2 s g 8 |

(4) I8 TEEHA RNA H3awo o1 fohamsfier Toret
7

Yl ! iasfierl fhed ywTfod 737 Bt ?

(1) O, Higal &

(2) THWEH

(3) AUHE H

(4) CO, Tiga &

FHa TS TORGAT hT JFRUTT fohe TTawen H TR
BT 8 ?

(1) drTfsed

2 foug

(3) ¥YUg

(4) FIHIg

T8 < Tt § Ty R 2§ 2
(1) IAFIATHR

(2) JFRHR

(3) TIATHR

(4) TITHRIHR

(D
(2)

b,

118.

119.

120.

121.

122,

123.

124.

’1%9 rron functional groups characteristic of

sugars are
(1)
(2)
(3)
(4)
Which among the following is not a prokaryote ?
(1) Nostoc

(2)  Mycobacterium

(3)
(4)
The Golgi complex participates in
(1)
(2)
3)
(4)

Which of the following is not a product of light
reaction of photosynthesis ?

(1) NADPH

(2) NADH

(3) ATP

(4) Oxygen

Which of the following is true for nucleolus ?
(D)
(2)
(3)
(4)

carbonyl and phosphate
carbonyl and methyl
hydroxyl and methyl
carbonyl and hydroxyl

Saccharomyces
Oscillatoria

Respiration in bacteria
Formation of secretory vesicles
Fatty acid breakdown

Activation of amino acid

It takes part in spindle formation.

It is a membrane-bound structure.

Larger nucleoli are present in dividing cells.
It is a site for active ribosomal RNA
synthesis.

Stomatal movement is not affected by

(1)
(2)
3)
4)

The stage during which separation of the paired
homologous chromosomes begins is

(1)
(2)
(3)
4)
Stomata in grass leaf are
(1)
(2)
3)
4)

O,y concentration
Light
Temperature

CO, concentration

Diakinesis
Diplotene
Pachytene
Zygotene

Rectangular
Kidney shaped
Dumb-bell shaped
Barrel shaped
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126.

127.

128.

129.

130.

131.

B8 ?

(1) <hrSH

(2) eI Tl

(3) sfiwyr fawsan

(4) et favsan
Y- fope Bieft § 2
(1) wrEred uredt |
(2) TIGA-ICATTS STAgIg §
(3) TaURgYE H

(4) SoAm g d
et ufgal el 2l 8 ?
(1) <o

(2) UNTH

(3) SRl

(4) SFdca

Ig I1eY HA-4 7 o fidtee gfg o o foegpa =&
Bt ?
(1
(2)

NI

qofarel} STastsh

(3) "™

(4) HEheH

STehtehe, fehdeRT TUT-RT & ?

(1) Hgem qd

(2) sTaETie qa

(3) ddr1

(4) W

Fr=fefiga @ @ wF-a1 %9 &g ® 2

(1) TEeed AFasist 7 |

(2) FRcifoder tw  fawmeem awen ®, w@fe
GodlfF97 T THSIST] 9Tl 7 |
sEasifort # fiemve swernm fufa g ufeg
& B |

Grshg I f¥gg A1 | ATURUGAT o4 3TemRad
B E |

W%maﬁgﬁq:

(1) TARSHSH § qery 9 iR @ T80 i 6
AT € |

BRIl Gy AfTea AT U R |

ekl 3R Ue ST % "ot # iR fufa
39T gt 8 |

AT B Bieht Tt Sfestral i wifdesr o
TIARUTHIT Teh FTHITE 7 |

3

(4)

(2)
(3)

4)

126.

127.

128.

129.

130.

131.

tl%.'é%(%ﬂlary xylem and phloem in dicot stem are

produced by

(1) Phellogen

(2) Vascular cambium
(3)
(4)
Pneumatophores occur in
(1)
(2)
3)
4)
Casparian strips occur in
(1
(2)
3)
4)
Plants having little or no secondary growth are
(1
(2)
3)
(4)
Sweet potato is a modified
(1)
(2)
3)
(4)

Apical meristems
Axillary meristems

Carnivorous plants
Free-floating hydrophytes
Halophytes

Submerged hydrophytes

Cortex
Pericycle
Epidermis

Endodermis

Conifers
Deciduous angiosperms
Grasses

Cycads

Tap root
Adventitious root
Stem

Rhizome

Which of the following statements is correct ?
(1)
(2)

Horsetails are gymnosperms.

Selaginella is heterosporous, while Salvinia
is homosporous.

3

Ovules are not enclosed by ovary wall in
gymnosperms.
(4)

Stems are usually unbranched in both
Cycas and Cedrus.

Select the wrong statement :

(1)

Pseudopodia are locomotory and feeding
structures in Sporozoans.

(2)
3

Mushrooms belong to Basidiomycetes.

Cell wall is present in members of Fungi
and Plantae.

4)

Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.
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133.

% gy sfioy] Sfesid ®9 7 399 B & 2
(1) OiR»g

(2) SR

(3) =pieanr

(4) @I

T I H & TE Hel o TR 11 B Hel 3 e hifse
I = for wu fasmedt § @ @t faswew w1 WA

HINT

83,

133.

'P&t%maryogamy followed by meiosis, spores are

produced exogenously in
(1) Agaricus
(2) Alternaria
3)
4)

Neurospora
Saccharomyces

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column II

T 1 w7H 1 a. Herbarium i. Itis aplace havinga
a. URUE™ i afafdd dieut TR S=qe W collection of preserved
HUE 1 TH TAM | plants and animals.
. . . b Key ii. A list that enumerates
b W i, U & W S e w e methodically all the
Kl ﬁﬁm@% T e gQ 31 species found in an area
STh! TEH hl gmAdl % fere with brief description
i o wed BT T gl | aiding identification.
¢ UG iil.  UHT T &l 9red :p:E.ﬁ Al c.  Museum iii. Is a place where dried and
T 3N T T W pressed plant specimens
e ot T ST D | Elounted on sheets are
ept.
d. ‘J?R:Eﬁ iv. Th m frew @eon K lf’ﬁ d. Catalogue iv. A booklet containing a list
(ﬁTe.'lE'T"T) 3R 37 foehed B1d & of characters and their
fofirer afent <hl = @ | alternates which are
e B1d & | helpful in identification of
a b c d various taxa.
1 i iv i i a b ¢ d
@ i i i v i
. . ce (2) iii ii i iv
@ 1 v @ i v i i
@ w1 @ i v i ii
134. U W fohew B @ ?
(1) =19 134. Winged pollen grains are present in
o e o i
! yeas
@®) ww (3) Mustard
@) 7T (4) Pinus
135. A DA T gﬁﬁ%ﬁ R? 135. Which one is wrongly matched ?
(1) S - AR (1) Gemma cups —  Marchantia
(2)  fometies m - ’ﬁ REIRS (2) Biflagellate zoospores — Brown algae
(3) UHHIANIH RELED —  qiTEEEIaT (8) Uniflagellate gametes — Polysiphonia
(4) UehehIfyTeh Sia - FARAT (4) Unicellular organism — Chlorella
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T el <hl g i I ®9 & gIlaT B 2

(1) &t Tag | STferehdr; yadfent § o

(2) voEfeT hI HEI § ftehdr; v Hag H
D]

(3) vIEf °§ MY; T Adg | HH

(4) vaul Tag | SHl; TeEiTeRT § e

137. T I 9 € T8 Al 1 Ty 11 1 wel § e i
IR = few MU fowmewt @ @ @E? famew w1 =

T

(1)
(2)
(3)
(4)

138. T I H & TS Hel o1 v 11 <H1 #7et 9 faa hifsg

LT 1 T g 11

Tt s i. oW 31fie wg =¢ o
& o=

fgaarht wure ii. e e e g
T & o

AT HUMEHT  iii.  qrfed 3ifeie Ta arfed
frem & o=

a b c

i i1 iii

i i1l il

iii i i1

il i iii

3t fiw few U fashedt @ ¥ &gt foaew &1 WA
HifSr -

Tary [ Tary 11

137.

138.

t1§é.-\ﬁ19m of the following options correctly

represents the lung conditions in asthma and

emphysema, respectively ?

(D

(2)

3

(4)

Increased

respiratory

surface;

Inflammation of bronchioles

Increased number of bronchioles; Increased

respiratory surface

Inflammation of bronchioles;

respiratory surface

Decreased

respiratory

Decreased

surface;

Inflammation of bronchioles

Match the items given in Column I with those in
Column II and select the correct option given

below :
Column I
a. Tricuspid valve 1.

(1)
(2)
3
4)

Bicuspid valve ii.

Semilunar valve iii.

a b c
i il iii
i 1ii i
iii i i
i i iii

Column II

Between left atrium
and left ventricle

Between right
ventricle and
pulmonary artery

Between right
atrium and right
ventricle

Match the items given in Column I with those in
Column II and select the correct option given

below :
a. AN I¥AA i. 2500 — 3000 fa.ef. Column I Column I1
S IDLE] b. Inspiratory Reserve  ii. 1100 - 1200 mL
volume
c. Tvawa gofea iii. 500 — 550 fi.ef. _
1A c. Expiratory Reserve iii. 500 — 550 mL
volume
d. I ST iv. 1000 - 1100 fr.=f1. d.  Residual volume iv. 1000 — 1100 mL
a b c d a b c d
(1) 1 iv i1 111 i iv ii iii
(2) iii i iv i1 (2) iii i iv ii
4) iv i1l 11 i 4) iv iii i i
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(D
(2)
3
4)

amsiE @ gt fast afvmn g
s | I3 TR g’

EY B IS TS g
vEmy % ¥ I faet afvE g

140. F=fafea o @ wF-a1 gHH Wi s @ sgead g

2?
(1)
(2)
(3)
4)

TEIfeta
TFSTSHA
UEEEOE
ufezetta

141. FHfafga 4 & fem gmm 6t sifegimar 4 7=
fRT 2 ?

(D
(2)
(3
(4)

TEISH Td YUATEUSS BTHIA
BIEEAERE RG]
UEEIeeH Td Yedfaed
QUTEise BHM Td et

142. TfaRed 4 @ -8 T Fo@T &7 306 HE 4

T €9 Y Ifa g ?

(1) EENdHE . fomrem g @1 IcuTed we
AT, G qAT AT
o o |

2) fafas o : dqeT & & I ufeass &
faftra &= = ofm o Sied
B T BT =0T T |

(3) W AN : TG U9 ge¥ e giEdt
= ffa s |

(4) hOH heAlgH  : 0 UF ¢ YHIEISh M
! Sigd dTel g3t i U |

tl%. ) ’1%8 %nsparent lens in the human eye is held in

its place by

(1) smooth muscles attached to the iris

(2) ligaments attached to the iris

(3) ligaments attached to the ciliary body

(4) smooth muscles attached to the ciliary body

140. Which of the following is an amino acid derived
hormone ?

(1) Estradiol

(2) Ecdysone

(3) Epinephrine

(4)  Estriol

141. Which of the following hormones can play a
significant role in osteoporosis ?

(1) Estrogen and Parathyroid hormone

(2) Progesterone and Aldosterone

(3) Aldosterone and Prolactin

(4) Parathyroid hormone and Prolactin

142. Which of the following structures or regions is
incorrectly paired with its function ?

(1) Hypothalamus production of
releasing hormones
and regulation of
temperature,
hunger and thirst.

(2) Limbic system consists of fibre
tracts that
interconnect
different regions of
brain; controls
movement.

(3) Medulla oblongata : controls respiration
and cardiovascular
reflexes.

(4) Corpus callosum band of fibers
connecting left and
right cerebral
hemispheres.
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143.
(D
(2)
3
4)

Dovvnl oaded Fro%htt%g%ag por

nwaqwqalﬁw

JTTETT TH HEISTARR

STelca=] Ud HeqoTet

STelcae Ue {qEca

144, HdT 1 s9T W % U A9 S8 W Frfad
A B ?

(D
(2)
3
4)

hCG, hPL, TSESH, TEISH
hCG, hPL, w&gieH, fafeem, srifeaeifam
hCG, hPL, TSE2SH, TeAfded

hCG, TSN, TEISH, TC[ehlhiehiss

145. IHIVSHA T IRV (Tafifuee) | s o= 8 2

(1)

(2)

3

(4)

IR H SBRIUSTT ST Telehl whifSTehle &
o Aferie < fgehr § HeA g 3,
Selfeh YEAIIREH H Yh1Y] s & |

LIS YN S E, Faih Yo |
RIS & & |

YIS H IS T 8, Sl T |
1] 9 B |

LS H LRI S §, Fefh Lo A
YGRS H WIS hIRERIRT H IEheh
AfcreRtatl i Tfeeht | Hied BT B |

146. TS Tgel’

(D
(2)

3

(4)

T IUD ? |
Treredt § TeNA I Figdl # Sgrl 8 T
JTEIedT i Ushd! ® |

T H UL UTE hl 3Ta%g hid! & Td ISt
% 9T T Tehel! 2 |

T gv-AY MRS 7 |

tal.com

143. The amnion of mammalian embryo is derived
from
(1) mesoderm and trophoblast
(2) endoderm and mesoderm
(3) ectoderm and mesoderm

(4) ectoderm and endoderm

144. Hormones secreted by the placenta to maintain

pregnancy are

(1) hCG, hPL, progestogens, estrogens

(2) hCG, hPL, estrogens, relaxin, oxytocin
(3)  hCG, hPL, progestogens, prolactin

(4) hCG, progestogens, estrogens,

glucocorticoids

145. The difference between spermiogenesis and
spermiation is

(1) In spermiogenesis spermatozoa from sertoli
cells are released into the cavity of
seminiferous tubules, while in spermiation
spermatozoa are formed.

(2) In spermiogenesis spermatozoa are formed,
while in spermiation spermatids are
formed.

(3) In spermiogenesis spermatids are formed,
while in spermiation spermatozoa are
formed.

(4) In spermiogenesis spermatozoa are formed,
while in spermiation spermatozoa are
released from sertoli cells into the cavity of

seminiferous tubules.

146. The contraceptive ‘SAHELI’
(1) 1isan IUD.

(2) increases the concentration of estrogen and

prevents ovulation in females.

(3) blocks estrogen receptors in the uterus,

preventing eggs from getting implanted.

(4) 1is a post-coital contraceptive.
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148.

149.

150.

151.

152.

3 fIRR T Tehed & foTT 91T 1 T Hd &
W SAfafer 9t @ frepem % fote wemsie
grit gt 8

3 T o TTT MRt T TN Hd &

30 &1 TR % hegeh Bd &

FRGh! TG b I Sl hl TgaH HINT ST 3T
uTeq dF § kg ud e g sifirafera 7 |

(1) wfS

2) wifern

(3) ufrpferan
(4) orifecsefia

Fraffeaa & & ®H-8 A0 T Hihd= HI T8I T
Hishid & A 8 ?

(1
(2)
(3)

(2)

3
4)

TR YR Ase dled 3 9@

=5 I i Iufedfd

fid I @ W AT & AR kI Uy i
3uferfa

(4) e i Iufedfa

Frefafaa 8 @ SF-51 9= Taardt 787 2 2

(1) g

(2) @

(3) #wTa

4) Rper

Freafafad S=get 8 @ ®F-8 S FrRma 787w 2
(1 ="

(2) Hfhe

(3) gl
(4) TR%N

Frafafed & @ #-8 Sta gg@rRl § §&T 3caEs 5
®q H S A 2

(1)
(2)
3
4)

—

134,

148.

149.

150.

151.

152.

: &Qa@zs differ from all other protozoans in

(D
(2)

using pseudopodia for capturing prey

having a contractile vacuole for removing
excess water

3
(4)

using flagella for locomotion

having two types of nuclei

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(1)
(2)
3
4)

Aves
Reptilia
Amphibia
Osteichthyes

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(D
(2)
6))

Forewings with darker tegmina

Presence of caudal styles

Presence of a boat shaped sternum on the
9" abdominal segment

Presence of anal cerci

4)

Which one
homeotherm ?

(1)
(2)
3
4)

of these animals is not a

Camelus
Chelone
Macropus

Psittacula

Which of the following animals does not undergo
metamorphosis ?

(1) Moth

(2) Tunicate
3)
(4)

Earthworm
Starfish

Which of the following organisms are known as
chief producers in the oceans ?

(D
(2)
3
(4)

Cyanobacteria
Diatoms
Dinoflagellates
Euglenoids
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154.

155.

156.

157.

g wmfse i S TREAie Bhar sgan SEm
STt & 2

(1) OEsffaan

(2) FEIRINET

(3) eIt

(4) THHTASH

et § 8 SF-81 SeRdH W § 787 o ?
(1) aHEfas 3TH

(2) ufea 3uaq

(3) aI-Sfa Twrl 4Tk

(4) o9 H

T I H & TS Al o &R 11 bl wel § e hifs
R A= feu U fomedi @ @ @gt fawew =1 w4

Hife
&y I &7y I1

a. gamwom i. UV-B fafero

b. afed defhra i, S

c. Temrad (VN sEeE) il W9 dgig

d. FuEd iv. smafire faem
a b c d

(1) i v i ii

2) i iii iv ii

(3) ii i iii iv

4) i ii iv iii

T < I el gg ST J

(1) TH&™ Td Fqd = g&m § sk 2
g1

(2) SAEW SAfSe FARR AT § %7 8d ¢ |

(3) SHYE AT T &M AfSl ¥ 31fesh 21d & |

(4) Y A FeH SAfAT ¥ A 8d © |

“Thep” TSR g Uikl W19 W foRE W | wTed et ® 2

SRS
7 B
i @

et &

(1)
(2)
(3)
(4)

—

184,

154.

155.

156.

157.

\ﬁ}%ﬂif one of the following population

interactions is widely used in medical science for
the production of antibiotics ?

(1) Parasitism

(2) Mutualism

(3) Commensalism

(4) Amensalism

All of the following are included in ‘Ex-situ

conservation’ except

(1) Botanical gardens

(2) Sacred groves

(3) Wildlife safari parks

(4) Seed banks

Match the items given in Column I with those in

Column II and select the correct option given
below :

Column I Column I
a. Eutrophication i. UV-Bradiation
b.  Sanitary landfill ii. Deforestation
c. Snow blindness iii. Nutrient
enrichment
d. Jhum cultivation iv. Waste disposal
a b c d
(1) it iv i ii
(2 i iii iv ii
3 ii i iii iv
4 i ii iv iii
In a growing population of a country,

(1) reproductive and pre-reproductive
individuals are equal in number.

(2) reproductive individuals are less than the
post-reproductive individuals.

(8) pre-reproductive individuals are more than
the reproductive individuals.

(4) pre-reproductive individuals are less than
the reproductive individuals.

Which part of poppy plant is used to obtain the

drug “Smack” ?

(1) Roots

(2) Latex

(3) Flowers

(4) Leaves
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8,

'AS[IOOWhe following are part of an operon except

(1) TBH (1) an enhancer
(2) TEATHS S (2) structural genes
(3) TdIdh (3) an operator
(4) 9 (4) apromoter
10,0 g e s 19 e e n Xk i m e o o
fepeit T 2 2 inherited by
(1) et wra-gfcer /At 3 (1)  Only grandchildren
(2) I Eﬁﬁ | (2) Only sons
3 a»_cﬁl Eﬁéﬁ | o (3) Only daughters
4) 33?[ s gﬁ'&ﬁ o | (4) Both sons and daughters
160. =T ¥ s % @R oy S franfafy fe yew [160. According to Hugo de Vries, the mechanism of
a2 9 evolution is
(1) <ifes T & qiadq (FreFoTsTEef} ﬁﬁﬁ?ﬂ) (1) Phenotypic variations
(2) TeeTH (2) Saltation
(3) wE= IcafEas (3) Multiple step mutations
4) ©g IcafadT (4) Minor mutations
161. AGGTATCGCAT is a sequence from the coding
161. T 9 & hifen =9 %1 %9 AGGTATCGCAT 2 strand of a gene. What will be the corresponding
9% 2 313@1\'@?! mRNA 1 Hefid s &1 8 2 sequence of the transcribed mRNA ?
(1) ACCUAUGCGAU (1) ACCUAUGCGAU
(2) UGGTUTCGCAT () UGGTUTCGCAT
(3) AGGUAUCGCAU (3)  AGGUAUCGCAU
(4) UCCAUAGCGUA (4) UCCAUAGCGUA
162. TR I & & 7S W 1 T 11 61 7e & e i 162. I\C/Ialtch th;}Iitenclls gilveré 1;}11 Column I Wit? thos'e in
. olumn II and select the correct option given
R o U et § ¥ @t fwen w1 W oo ption gt
T Column I Column 11
& 1 &TF 11 a.  Proliferative Phase i. Breakdown of
a STt T i T i endometrial
b, ETef e ii. W RIS b.  Secretory Phase ii. Follicular Phase
c. RJAME iii. iafuus wree c.  Menstruation iii. Luteal Phase
a b c a b c
(1) ii iii i 1) i iii i
(2 i iii ii 2 i iii ii
@) i i i (3) iii i i
@ @i ii @ i i ii
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IP&SWQ%‘Q q%%%%w&ta’ﬁ)q@l} lﬁ%ﬁéﬁ'@‘{ tl%?l. ' l&aotc the items given in Column I with those in
3 A= fu Ty fokedi # @ @El faswed w1 WA Column II and select the correct option given
HIT below :

Tyl &TFy I Column I Column I
a. WW i Srer g {ﬁ;ﬁ STFA HT a.  Glycosuria i. Accumulation of uric
. acid in joints
U BT
e e . b.  Gout ii. Mass of crystallised
b. TR ii. gk H foptefcra @@l salts within the kidney
faue c. Renalcalculi iii. Inflammation in
.~ lomeruli
c. gEhRY Ul iii. =BT H JaTEehdl 8
e Wﬁ d. Glomerular iv. Presence of glucose in
( ) nephritis urine
d. TS gFRMY iv. GF H [hIE Kl ST a b c d
a b c d (1) i iii i iv
1) i iii i iv 2 1 ii iii iv
(2) i ii iii iv (3) iii ii iv i
(3) iii ii iv i 4) iv i ii iii
4) v i i iii 164. Match the items given in Column I with those in

Column IT and select the correct option given

164. T 1 # € T3 Hal 1 =¥ 1T 1 71 | fre =i below :

S A= fou o foshedt & @ @@l fashed Column I Column 11
Hif (Function) (Part of Excretory
Ty [ oy I System)
(377279 (33777&/ =T BT 9T ) a.  Ultrafiltration i. Henle’s loop
o aﬁ’@&‘q B i e uw b. Sfol?:ie;;tratlon ii. Ureter
b. T 1 EGW i, et c.  Transport of iii. Urinary bladder
urine

c. TIAH AWHEA il TR
d. Storage of urine iv. Malpighian

d. T H TURY iv. Hodnf iRt corpuscle
v. oy gaferd Aferent v. Proximal
convoluted tubule

a b c d a b o d
1 v iv i ii 1 v v ; "
@ v i i @ iv i ii i
3) iv v ii 1ii 3 v v " i
4 v iv i iii @ v v ; i
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166.

167.

168.

T3 § Wgg hidl & ?
(1) e (Mecie) IR
(2) TOTSHT SHIRTHIT

(3) HEF HIRTERN

(4) forfa ifsrernd

ey 18 &) 78 9e o ward 11 1 9e & fiam hifse
IR = few MU fowmewt @ @ @E? famew w1 =

HIT

&y I &y I1

a.  WIEfSANE i qUEelt @qe

b. TAGRH ii. T o

c. U iii. wforen frafafy
a b c

1 i iii ii

2 i ii iii

(3) i i i

4) ii i i

F=fefiga § & saemtie vae foer &1 Ierer =
2?
1
(2)

FigfrsH

[GEINEAERK

(3) UIIE

(4) aTawhIfd

heplel Ut T | hicyrm WUl § Fifh T8
(1) U dq & Arfa ofid o o7 o 3 B |
(2) AERE Tidte & dust 38 fhamefia s B |
(3) T ¥ et Ufded & |fsha T * 3TmeR
I g2 o 2 AR % o |

AN e ¥ 3R Uded 99 & " ey
fwfor <l Uehar 2 |

(4)

166.

167.

168.

tal.cont ' ' o
. Which of the following gastric cells indirectly

help in erythropoiesis ?
(1) Goblet cells

(2)
(3)
(4)

Mucous cells
Chief cells

Parietal cells

Match the items given in Column I with those in
Column II and select the correct option given

below :

Column I Column II

a. Fibrinogen 1. Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii. Defence mechanism
a b c

1 1

2 1 ii

3)

(4) ii

iii ii
iii
iii ii i
iii i
Which
respiratory disorder ?
(D)
(2)
(3)
(4)

of the following is an occupational

Botulism
Silicosis
Anthracis

Emphysema

Calcium 1is important in skeletal muscle

contraction because it

(1) detaches the myosin head from the actin
filament.

(2) activates the myosin ATPase by binding to
it.

(3) binds to troponin to remove the masking of
active sites on actin for myosin.

(4) prevents the formation of bonds between

the myosin cross bridges and the actin
filament.
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170.

171.

172,

173.

174.

fFe 377 td SER

DNA td RNA

FIERCA RIS

Had Ts9E™ @ RER

T O HIH-A1 HAT TeAd & ?

(1) TSHIRE T T BIa1 & 99 T 39 TEgeH
AT ST I3M o foty NAD firerdn & 2 |
TATSShITATHE hIfSTehifacts § 9=l Bl 3 |

TCA <5 o USTSH BRI & 4T § feera
B2 |

Sffeefihtolt  WICHINAIRT  Thrht T sTa
forgh o afeq Bar 2 |

Terd e &1 ==e il

(1) 3YHETehyl TREE — L-3ThRIT U

(2) TEm — fom Torg

(3) oUW R — fgug % e

(4) wEUER EE - UfFRREEl % 3TSh

fFrafafigs & @ -8 wfonfyes wee ame dafa=m
! I Hid & ?

(1) dReEdl, TharEd!, FHad!

(2) e, fgamad, fommedt

(8) g, Toamadt, Twad

(4) e, foawed!, fawmedt

% USTfsHs e (RER) ¥ Ffafea # =
HH-H T 73T Bt ?

(1) Hhd UCIsE T fageH

(2) T T TATSHIHAIA

(3) IEH T I

(4) wiEpIfafie dzayo

g0 ¥ UEEM T mRNA ¥ Teg St THar
ifeiieergs i 3 gl s=rd & | ussEm s UE

(2)
3
4)

(2)
3

4)

STEATSTT ! FIT HEd § ?
(1) vofeee™

(2) wgae fuvg

(3) wEE

(4) hfgew

—

189.

170.

171.

172,

173.

174.

: &%mwies are mainly composed of

Nucleic acids and SER
DNA and RNA

Proteins and lipids

(D
(2)
3
(4)

Free ribosomes and RER

Which of these statements is incorrect ?

(D

Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.

(2)
3

Glycolysis occurs in cytosol.

Enzymes of TCA cycle are present in
mitochondrial matrix.

(4) Oxidative phosphorylation takes place in

outer mitochondrial membrane.

Select the incorrect match :

(1) Submetacentric — L-shaped chromososmes
chromosomes

(2) Allosomes — Sex chromosomes

(3) Lampbrush — Diplotene bivalents
chromosomes

(4) Polytene — Oocytes of amphibians
chromosomes

Which of the following terms describe human

dentition ?
(1)
(2)
3)
4)

Pleurodont, Monophyodont, Homodont
Thecodont, Diphyodont, Heterodont
Thecodont, Diphyodont, Homodont
Pleurodont, Diphyodont, Heterodont

Which of the following events does not occur in
rough endoplasmic reticulum ?

(D
(2)
3
(4)

Cleavage of signal peptide

Protein glycosylation

Protein folding

Phospholipid synthesis

Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide

simultaneously. Such strings of ribosomes are
termed as

(D
(2)
3
4)

Plastidome
Polyhedral bodies
Polysome

Nucleosome
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176.

171.

178.

179.

180.

arfefat § fereprell Ny Icq Bar 2 2

(1) fored o

(2) UEhRUfEE

(3) uferbfeufem

(4) srfifaufm

fferfad i & F-a1 wwfen T 77 3 2
(1)  TSTATSH T

(2) EHI ity

(3) wiufE
(4) fafefam

Fr=feifaa et fa™@ & Iereen 4 8 7e7d faseq
T T HIT :

(1) <HEE, AT Td <idr o1 Afeass

(2) TWNEE, HHD U4 <Hdl I &6

(3) WG, TES T <Al o 3WUE

(4) SATFIH, TTCS TG HH 6l 311G

39 % T W OEACRI U TEhH TS| UINh  &HAT
forehl gfg o RO B B 2

(1) foerftd By,

2) foafm A

(3) faerftm D

(4) faafm E

3k HIATHI & WU hl I FEAT T FHEAT
foperehT g8 @ ?

(1) AfE foem

(2) ToI®ual

(3) HHSITAAT

(4) oTgepatt fafertor

Frafafaa siftraeett § @S-8 a7s7 § Sfm ant i
ERIECA R A

TTferar

FggHTferar

EREENIS]

a1quf weTferan

EEERUCRID

b,dTd e

a,b@c

b,cQ_Oie

a,c@e

°© a0 TP

(1)
(2)
3
4)

34,

176.

177.

178.

179.

180.

'Igomich disease does mosquito transmitted

pathogen cause chronic inflammation of

lymphatic vessels ?
(1
(2)
(3)
(4)

Which of the following is not an autoimmune
disease ?

(D
(2)
3
(4)

Among the following sets of examples for
divergent evolution, select the incorrect option :

(D

Ringworm disease
Ascariasis
Elephantiasis
Amoebiasis

Alzheimer’s disease
Rheumatoid arthritis
Psoriasis

Vitiligo

Brain of bat, man and cheetah

(2) Heart of bat, man and cheetah

(3) Forelimbs of man, bat and cheetah

(4) Eye of octopus, bat and man

Conversion of milk to curd improves its

nutritional value by increasing the amount of
(1
(2)
3)
4)
The similarity of bone structure in the forelimbs
of many vertebrates is an example of

(D)
(2)
3)
4)

Which of the following characteristics represent
‘Inheritance of blood groups’ in humans ?

Vitamin By,

Vitamin A
Vitamin D
Vitamin E

Convergent evolution
Analogy
Homology

Adaptive radiation

a. Dominance

b Co-dominance

c.  Multiple allele

d. Incomplete dominance
e Polygenic inheritance
b,d and e

a,bandc

(D)
(2)
3
(4)

b,cand e
a,cande
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&7 UG :

. I8 W W T wheneff, Tl @ oA
SENRERECl

. et A Tl Y fomiw srgmfa & fom
T gieqrelf 39T T 9 BiS |

. FRd e S e 3 9w feu fomr e
Jufeufa ame W g gEarer T o+
weneff wen gfa T& S | afe e
Tigmeff 7 gEd OR Suteafaume W
gEaTer TE TRt A1 g wn Sre fom e
3T U A& AT § SR Ig Araa aned
HT HTHAT T AT |

. SARIeh/EEaaTiord Uiehetsh o1 39T afsiq
2 |
. qhenaEia § TR o fow gdfemeff ghen =
e wa fafemt g fafia € 1 sefa
e & @it Al 1 B 39 udien %
fremi wa fafemi o orgam g |
. foreflt ot gTeta@ ® ol gieaem o S
T IS HTT 3TAT 7 L |

. W gfeqsrer v 7 feu o uhen gieaew
Tohd i wdierrefi TEt aleh & Iufedfaoses o
forg |

tlgzlad %81r'yﬁtlly the following instructions :
1.

Each candidate must show on demand his/her
Admit Card to the Invigilator.

No candidate, without special permission of

the Superintendent or Invigilator, would
leave his/her seat.
The candidates should not Ileave the

Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet second time will be
deemed not to have handed over the
Answer Sheet and dealt with as an
unfair means case.

is

Use of Electronic/Manual Calculator

prohibited.

The candidates are governed by all Rules and
Regulations of the examination with regard to
their conduct in the Examination Hall. All
cases of unfair means will be dealt with as
per Rules and Regulations of this
examination.

No part of the Test Booklet and Answer Sheet
shall be detached under any circumstances.

The candidates will write the Correct Test

Booklet Code as given in the Test
Booklet/Answer Sheet in the Attendance
Sheet.
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